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AT 3397 :

(i) 39597 97§ 57 30 F57 & | ¥ yv7 arfdard & |

(i) F% Y9 & 3% Y97 & GH7 RE T & |

(iii) 397 G&I1 1 & 9 7% FglaFHediT 57 & | F9% 597 1 3% #7 & |

(iv) Y97 Q&I 10 @ 21 TF J9F J97 3 3% &1 8 | §99 @ JAP 94 & I

80 Iz & 37fer &7 787 FT FeT |

(v) F97 G&IT 22 T 29 TF TIF J97 5 HF FH & | 30 @ IIF 97 H IHN
120 w15g] & 3fee FT 787 5147 TifeT |

(vi) I99 G&IT 30 FIIGT Tra=Ef 97 5 7% &7 & (2 7% 313819 a21 3 37% §hiei) |
(vii) WEW#WW-W%WWW/

General Instructions :
(i) The question paper has 30 questions in all. All questions are compulsory.
(it)  Marks for each question are indicated against the question.

(iit) Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

(iv) Questions from serial number 10 to 21 are 3 marks questions.

Answer of these questions should not exceed 80 words each.

(v)  Questions from serial number 22 to 29 are 5§ marks questions.

Answer of these questions should not exceed 120 words each.

(vi) Question number 30 is a map question of 5§ marks (2 marks from History

and 3 marks from Geography).

(vii) Attach the filled up map inside your answer-book.
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frafafga & @ o 59 I B IR war g 2 1
Q) T FuifE &9 w FEe s@ Tt ST TwmEie srewEn
B) T U9 od sgoes e I TWEs §0F 9gEH Wl HE
ot = 8
(C) U T Tl &l 7Y Aaredl sl A4 1 ATHR T@d o
(D) TESER % UG I AW HH FTell T 15T
g

e
qa? 1
(A) I IANT F T H T T TSI

(B) W H o9 H ATEIIRAl

(C) Toaaam i g&Hfd il 791 €9 &1

(D) fowaam o nunyg = fawiaa e

Which among the following defines a nation state ?
(A) Centralized power controlling a defined territory

(B) A statein which majority of its citizens and rulers develop a sense

of common identity
(C) A state where people had a right to elect their leaders
(D) A state following the principle of socialism
OR

Which one of the following was the main reason for colonization in
Vietnam by the French ? '

(A) Need of raw material for their industries
(B) Need of labour in France
(C) To reshape the culture of Vietnam

(D) To develop infrastructure in Vietnam
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2. ITHEAN IAEEH % GNH Y Vo ¥ Frfafed § @ fred st + fagi

1 Aqca Tohal ? _
@) 3Tl Hiarm T
(B) ST THE

(C) 3Tsgd TFHR @i

D) TH.IAR. IR

Who among the following led the tribal revolt from Andhra Pradesh
during Non Co-operation Movement ?

(A)  Alluri Sitaram Raju

(B) Bala Ramachandra

(C)  Abdul Ghaffar Khan

(D) M.R. Jayakar

3. Tficg % YR W, WA Bl slfacswhen fafiee ffafea & @ fohm ot &
3Tl T R 2

@A) T e
(B) W& &
(©) HIH &
(D) HEHI &

On the basis of ownership, under which category does Bharat Heavy
Electricals Limited fall ?

(A)  Private sector
(B)  Public sector
(C) Joint sector

(D) Co-operative sector
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5.

 HATR? 1
(A) Td YA T IR
(B) I & AfTHR
(C) o & favg fer
(D) Haue IR HT AHR
Which one of the following laws empowers people to act as a watch-dog of
democracy ?
(A) Right to vote
(B) Right to information
(C) Right against exploitation
(D) Right to constitutional remedies
Tefifaes g 3R 399 Y8 THgm ¥ iR el § ¥ fFe sur w
=g _ 1
@) FTA |
B I
© fafu
D) I A
Political parties and pressure groups are different from each other on
which of the following grounds ?
(A) Organization
(B) Objective
(C) Method
(D) Contesting election
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6. fffenaridasnaasasoad 77282
(A) QrRdieh GHR A o i Ao ITEr &
(B) e STEEAT ST hl TN Seer 1 FTE TeH Bl B
(C) TArhdieh g1 3T S Shi &N ATF TF97 BId 8
(D) Thad § AN Tad 3R q9H B E

Which one of the following arguments is not in favour of democracy ?
(A) Democratic government is more accountable to the people

(B) Democracy gives opportunity to the people to change the

government

(C) Democratic countries are more prosperous than others

(D)  People are free and equal in democracy

7. Frefafiea § 8 forast = i vl & =riq Ha 77 R ST 8 2

(A) IS FUMYUR
(B) wREH

€ =N

D) &

Which one of the following is not included under terms of credit ?
(A) Collateral l
(B) Documentation

(C) Interest rate

(D) Insurance
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8. Tr=fufga # & #F-a1 Te3a: AR a4 $ geH d grafea 8 ? 1

@A) efre
B) i
(C) e
(D) TR

Which one of the following is mainly related to removal of trade barriers ?
(A) Privatization
(B) Globalization
(C) Liberalization
(D) Outsourcing

0, -\ freifR St el § 3, oud amwin 9% SaRs e T
Tehdl 8 ? 1
&) T I AR
B) vhififaa w0 #1 sAfwn
© afagfd framo w1 s
D) FI IH FH AR

‘Under which one of the following consumer rights can a person approach
the consumer court ?

(A) Right to choose

(B) Right to represent

(C) Right to seek redressal
(D) Right to be infdrmed
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10.

11.

12.

13.
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HAE A # wREE TEEE W 97 W % o wre winE

T AT 7T foredl i SURT 1 3g@ il | 3x1=3
arera

et =1 afgeft Scft &t 9 & o 2ifeRT 3 Tha g I T fehed

o U T 3g@ HifT | 3x1=3

Mention any three measures adopted by the French revolutionaries to

create a sense of collective identity among the French people.

OR

State any three steps that were taken by the Tonkin Free School to

westernise the Vietnamese.

AR H1 HH-81 Ragra sngiie g  Tus $i 80 i § 3 o TEAh
IR AU G RS L 1+2=3

Which principle of satyagraha is relevant today also in solving the

conflicts of the modern day world ? Give two reasons.

IO WOQl A STHEAN TGled § @ Wi foEn ? Hig dM hRU WE
IS | | 3x1=3

Why did the plantation workers participate in the Non-Co-operation

Movement ? Explain any three reasons.

it Tgh fohg Fad & 2 ITH wEa fafau | 1+2=3

What are the Border roads ? Write their importance.




14.

15.

16.

17

18.

19.

32111

WA H SHEER % & | g ol fF ww fasmi i smen Hifg | 3x1=3
Explain any three major developments that have taken place in.the field

of mass communication in India.

@it & Faq iy ST @ S8 R i geat it samen i | 3x1=3
Explain any three values attached with the use of minerals in a

sustainable manner.

ZaTa TR 3R ‘TeIe SR § el |ikd R T B | 3x1=3

Distinguish between ‘pressure groups’ and ‘movement groups’ with

examples.

forear <t FHdt W awerar U & fo Rl fiw ol f e i | sxz=3

Explain any three measures to overcome the challenge of expansion.

“ORefi TSI Sl o YIS BRI + (10 AT b $1 T BT, Th
AT 7 |7 ISR Afed 39 HeF I I¥ T | 3x1=3

“Lack of internal democracy is a challenge to the efficient functioning of

Indian political parties.” Support the statement with examples.

NIRRT &0 ATATIH, 1986 (HIH) & H=<ria IINREIA! & AHEA! & fHawor
¥ fore fop T TeaE w1 T9 HifT | 3

Describe the provision made under Consumer Protection Act, 1986
(COPRA) for redressal of consumer disputes.
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20. el Fomt 1 TR i o ToTE WG TR g1 Io1¢ T fohegl ot shgdi h
e Hife | . 3x1=3

Explain any three steps taken by the Indian Government to attract

foreign investment.

21. 9r@ {8 $gd & ? T9H N HEH & ? 1+2=3

What is credit ? What is its importance ?

22. Tl % forq ez o werd # wierati i ek i fowetsor Hif | 5

HAYAT

“ AR o T T w3 Tee % ThR § e qi
1 |” 36 o <1 wHiE HIf | 5

Analyse the role of women in the Vietnamese struggle for
independence. '

OR

‘Giuseppe Mazzini and the Chief Minister Cavour have played a major
role in unification of Italy.” Justify the statement.

23. NGt i By @ e w9 ° fafim samd go e e 9@ 3
ARAATET § UaTG hl WeAT hl 3T 97 i H {8 YR Heg i ? T
Hifve | 5
How did the image of Bharat-Mata acquiring different forms as it was

painted by different artists help in arousing the feeling of nationalism
among the Indians ? Explain.
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24.

25.

26.

27.

28.

29.
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WA % T & A S 39 F % e % el drd [9egaAl H W
HITT | _ 5x1=5

Explain any five points of significance of biogas generation in the rural
areas of India.

sk aut & Felt I TN HUH I &3 I & a9 "ima o1 ? R ate
HThI Bl T HIRAT | ' - 5x1=5

Why was cotton textile industry concentrated in the cotton growing belt
in the early years ? Explain any five factors.

TR 2El % Rl are HEt & v R | 5x1=5

Describe any five functions of political parties.

“Arhdits ITE SFET 3T fRE e =EeeT ¥ Y@ & |7 ufe a@i afad
39 HYF & gHten i | 5x1=5

“Democratic form of government is better than any other form of
government.” Justify the statement with five arguments.

g & el 3 Fu=Ti il § 3=t TE hife | =i il 8
O A4 AT S FEEST i = HifS | 5x1=5

Differentiate between formal and informal sources of credit. Explain the
problems faced by borrowers of loans from informal sources.

Jvefiertor o fohegl die ThRIcaes INTEl Sl SR ST | 5x1=5
Explain any five positive impacts of globalization.

11 RRO.




30.
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(30.1)

(30.2)

(30.1)

(30.2)

3 wE A SR B, WA ¥ R e T YEn AR (98 15 W),
% siferad fpu U & | 3 waon W Fefafea Se 1 Aee A
TgETT T IF el AW, AR # o= 78 t@red w fafen ;. oxi=2

A 9% T V@ 99 1927 § R T HO FH AEwE g
o |

B. 98 ©M S fig ft @ H= I fraEl & <em @
g 8 |

fereferfga wreomt st Wd < geft Trifsh {@-AEfE W Iug ol
§ feamsy ok 39 Tm faftaw 3x1=3

() TEd WRT - AT Sert G
(i) HRIeETE — W T+
(iii) FER — TIFARR SFTATST TTeh

Two features A and B, are marked in the political outline map of
India (on page 15). Identify these features with the help of the
following information and write their correct names on the lines
marked in the map :

A. The place where the Indian National Congress Session
was held in 1927.

B. A place associated with the movement of Indigo Planters.

On the same political outline map of India, locate and label the
following items with appropriate symbols :

(i) Rawat Bhata — A nuclear power plant
(i) Murshidabad - A silk textile centre

(i) Indore — A software technology park
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Fiz:  FElkiRgd 597 FdcT ZIRE ThemeEl & g 397 §E91 30 % T W E -

Note: The following questions are for the Blind Candidates only, in lieu of
Q. No. 30 :
(30.1) wwwmw,aﬁmwzoﬁmt@uﬁﬁﬂw
At@EA gam A |
(30.2) 3@ WM HI AW ARG, SE A b S FO g ReaE w
AR JTH E3AT T |
(30.3) Wmmm{w%&mﬁfiﬂa%?
(30.4) [RigETE WM 9% %5 fohm Tsa | @ § 2
(30.5) 3T TSH T A Id18Y, &l ISR TTFead SaTars Ireh @ 8 | 5xI=5
(30.1) Name the place, where the Indian National Congress Session
was held in December 1920.
(30.2) Name the place, where the movement of Indigo Planters was
started.
(30.3) In which state is Rawat Bhata nuclear power plant located ?
(30.4) In which state is Murshidabad silk textile centre located ?
(30.5) Name the state, where Indore software technology park is
located.
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For question no. 30.1, 30.2

I3 €. 30.1, 30.2 & forw

Outline Map of India (Political)
WA 1 {@T-AH e (THiae)
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